Find principal angle using tan(0) = (

0 ,=—12
g, =18
Txy =15

Since 0; — 0, > 0 and 7 ,,, > 0, the angle B, is on the
first quadrant and therefore “atan” and “atan2” yield
the same result

01 — Ox
0,1 = B = atan = 67.5°

0p1 =By = atanZ(al — O'x,Txy) = 67.5°

o1 — ax>

3 4_”3/

Since 0; — g, > 0 and 7y, < 0, the angle B, is on the second
qguadrant.
“atan” gives an angle in the range [— g,%] :

01 — Ox
0,1 = B, = atan = —67.5°

“atan2” gives the angle in the correct quadrant (here the second
quadrant):

0,1 = By = atan2(o; — 0y, T xy) = 112.5°

112.5¢°
P2

—67.5°

P1

Note that when using the
expression,

tan(0) = <01 — Gx>

Txy

Both “atan” and “atan2” yield the
same result.



Find principal angle using tan(260) = (

o,=-—12
g, =18
Txy =15

Since = . =% < 0and T xy > 0, the angle B; is on the

second quadrant.

. . T T
“atan” gives an angle in the range [— 5,5] :

T
6, =22 R > = —22.5°

2
=—=05at
p2 =7 a an(ax_ay

“atan2” gives the angle in the correct quadrant
(here the second quadrant):

0, = A _ 0.5 atan2(27 ,y, o,

p1 > - Jy) = 6750

2T,

(ax—ay)/z

Since xz % < 0 and T xy < 0, the angle B; is on the third

guadrant.
T T

“atan” gives an angle in the range [— E’E] :

21T
Op2 = & = 0.5 atan( a4 > = 22.5°
2 Oy — Oy

“atan2” gives the angle in the correct quadrant (here the third
quadrant):

0, = & = 0.5 atanZ(ZT xy» Ox

p1 > — Jy) = —67.5°

0,=—12
g, =18
Txy =—15

P2

—67.5°

P1

Note that when using the
expression,

tan(20) = ( 2Ty )

Only “atan2” gives the result in
the correct quadrant
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